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Рациональный способ работы с 
мерками.
№ 171-177



4  +  2  =  6
сумма

слагаемое слагаемое

сумма



12  -  9  =  3
разность

уменьшаемое

вычитаемое

разность



№171.

М
Ю
К

К Т Е
3 1 2
2 3 2
2 52



№172.

1 3 3
2 1 3



№173.

4 1



№174

7

8 + 7 = 15

15 – 7 = 8

8

7 + 8 = 15

15 – 8 = 7

9 + 8 = 17

8 + 9 = 17

17 – 9 = 8

17 – 8 = 9



№175.

6 7 5 8

14 – и = 9
16 – с = 8

16 – т = 9
14 – л = 8

и с тл



№177.

ТSKE =4см+ 2см 5мм+ 7см 2мм =
= 13см 7мм
TS, SA, AK, KC, CE, SK, KE.



№176. 

7 + 5 – 8  е  
12

е



№176. 

6 + 7 – 4  а  
13

е а



№176. 

5 + 6 – 4  д  
11

е ад



№176. 

6 + 6 – 9  в  
12

е адв



№176. 

11 – 9  з  2

е адвз



№176. 

13 – 8  з  5

е адвз з



Домашнее 
задание

РТ.: 
№ 101, 102, 

     103.


